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Section 2.2 Zero and Negative Exponents
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1. Simplify each of the following expressions without a calculator:
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2. Express each of the following as a common fraction:
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3. Express in simplist form:
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4. Solve for x” in each of the following equations:
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5. Last the following from the least to the greatest:
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6. If =37, then what is the value of 2x +8?
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8. What is m@procal of (5- + E) . Express your answer as a common fraction.
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9. Express (171 +27 437 447 45 467 ) as a common fraction in simplist term.
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10. Solve for x: 2+(2+(2+(2) ) ) = x. Express your answer as a common fraction.
v,\.\..l \ - ‘ . _ - X ) (’ .
-+ ?’%(’1*.‘:‘7’:) = 1+ j_ = \‘ = o 4 [, Z N ! / y ,"/"’&i‘ P -~ ”4 l\\‘ / /
( ) ) ( -T(Z ) ) L | &F < } : il ‘) =~ 2 t “L ;'\ §;

v

. e . .4 _ _ .
11. Given that the positive integers ‘a’,’b’,and ’c’ satisfy the equation: ~5— =a' +b" +¢”'. What is the largest
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12. For what values of “x” will the expression be true? 4(4'2 +4°+4%+ 42) =2F
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13. Jason entered a positive number onto his calculator and pressed the x* button and got the value 0.012345679 .

What value would Ee have gotten if he had pressed the \/— button instead? Try to do this question without a
caleulator. ©.0[2>US (70, = - 1@\ oy
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14. Challenge: The posistive integers a,b,and ¢ satisfya ™ +b7* =¢™ . What is the sum of all possible valuef of
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